
Clue 1
42 ÷ 6 = 7

    equals 0.60 

Add 2 to -7 = -4

210 ÷ 3 = 50   

 ¾ of 120 = 50

-8 is greater than -6

12 × 8 = 96

     of 35 = 14_
5
2

_
5
2

Clue 2

 

Clue: The saboteur is M.
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not

48
person
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skier

660
experienced

200
but

1400
the

55
didn’t

60
lost

1000
under

450
damaged

150
an

400
which

70
left

2000
jump

105
found

Clue: The saboteur was an experienced skier.
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short heavy saboteur stand very

rescue the under found left

could a near was for

tall did stool drop ski

Clue 3

Clue: The saboteur was very tall.

→ → → →

→ → → →

→ → → →

→ → → →

→ → → →

_
4
1

_
3
2

_
8
5

_
10
3

_
5
4

_
8
2 _

12
3 _

16
4 _

20
5

_
6
4 _

9
6 _

12
8 _

15
10

_
16
10 _

24
15 _

32
20 _

40
25

_
20
6 _

30
9 _

40
12 _

50
15

_
10
8 _

15
12 _

20
16 _

25
20

_
16
8

_
60
12

_
40
10

_
25
20

_
88
11

_
20
5

_
20
10

_
100
20

_
15
10

_
27
18

_
4
3

_
80
24

_
32
14

_
25
13

_
40
25

_
6
1

_
50
15

_
9
2

_
30
25

_
29
17

Page 2 of 4



Clue 4

Work out the sentence from these coordinates to solve the clue number 4. 

(4, 1) (2, 3) (1, 1) / (4, 5) (1, 1) (4, 3) (4, 2) (3, 1) (3, 2) / 

THE PERSON

(5, 3) (1, 5) (4, 2)/   (1, 4) (1, 1) (4, 1) (5, 3) (1, 1) (1, 1) (3, 2) / 

WAS BETWEEN

(2, 5) (3, 1) (4, 3) (4, 1) (5, 2) /   (1, 5) (3, 2) (1, 2) /

FORTY AND

(2, 5) (2, 2) (2, 5) (4, 1) (5, 2) / (5, 2) (1, 1) (1, 5) (4, 3) (4, 2) / 

FIFTY YEARS

(3, 1) (3, 4) (1, 2)

OLD

5 A F K P U

4 B G L Q V

3 C H M R W

2 D I N S Y

1 E J O T Z

0 1 2 3 4 5

Clue: The person was between forty and fifty years old.

Page 3 of 4



Clue 5

Clue: The saboteur is left handed.
The saboteur of the Summit Ski Resort cable cars is Ray Turnbull!
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